


3anacHble YacTu
K02 OnopHble nnacTuHbl

KO3 KacceTbl

KO3 HaknagHble CTPY>KOOMbI
KO3 lMpoTekTopsl

KO3 KpoHLWTEHbI

K04 BwuHTbI oOxnaxaeHna

KO4 TMpy>XnHHble Lwainbsbl

K04 Poiyaru

3anacHble yacTu

KOS
KOS
KOS
K05
K06
K07
KO7
KO7
KO7
K07
K07

KacceTbl
ankn
LWtndTol
BUHTbI

BTynku
Mpy>XuHbl
Kntoun
dukcaTopsbl
LLlanbbl-rpoBep
Cronopbl

Hacapgkn

KomnnekTytoLme



K KomnnekTytowue

(>) OnopHble NNacTUHbI

FeomeTpuA 06o3HaueHue a bPasmegbl, L d yron FeomeTpua 06o3HaueHue a bPaamegbl, i d yron
SC32 85 318 49 o SES33C | 91 12 476 35
SC32N 85 318 4.88 i
SC42 125 318 6.9 fa\‘ ) =)

/*{NDBOW Wi* SC42N | 116 318 65 A '
] SC53 157 476 7.9 Q/
@ . @dt SC53N 146 476 8.1
~ 1 | sce3 1885 4.76 10 SK33C | 933 147 48 35

L1 SC63N 178 476 96 SK33CL | 933 147 48 35
SC83 244 476 128
SCBAN | 242 635 13 X
SC42B | 125 3.18 6.9

b SR10 84 318 47
SR12 10 318 47
< T [ SR16 1355 4.76 69
. HE SR20 171 485 79
) SR25 2 635 96
SC42CC | 125 3.18 35 SR32 278 635 13
b SR42CC [12575 3.18 35
0 b
SC32D 927 318 6.48 )
SC43D | 1245 476 7.34 . SR10S 88 318 54
SC53D | 1562 4.76 9.65 T [ |SRi2s | 1055 318 54
SC63D | 188 476 11.25 ] -
SC84D | 2508 6.35 14.85 @ }ﬂ
SC42S 115 3.18 6.4 ;
SC32S8 83 318 5.4 SS32 85 3.18 49
SS32N 85 318 4.88
$S42 125 3.18 69
a %0 = b, SS42B 125 318 6.9
‘ . SS42N 116 318 65
SC63V | 1835 4.76 55 | . il|= §S53 157 476 79
SC83V | 253 476 6.55 ?@ | SS53N | 146 476 8.1
SC84V | 253 635 635 >~ (] SS63 | 1885 476 10
SC32V | 912 318 34 SS63N 178 476 96
SC42v 126 3.18 45 SS84 244 635 12.8
SC44V 126 635 45 SS84N 242 635 13
SC54V | 1575 6.35 55 R b SS42CC | 125 318 35
$S32V 912 318 34 ‘ $S32CC | 93 318 35
SS42V 126 318 45 i
SS54V | 1575 635 55 @a of
SS64V 189 635 55 —1
I
a R SS32D | 927 3.8 577
SD317 935 27 5.2 ‘ 90° | SS43D 1245 476 7.34
SD32N 85 318 488 \ | SS53D | 1562 476 9.65
SD42 125 318 6.9 g -a + j $S63D 188 476 11.25
SD42N 116 3.18 65 [ / SS84D | 2515 6.35 14.43
SD43N 116 475 65
$S325 83 318 54
SD32D 92 318 5.8 SS42S 115 318 6.4
SD43D | 1245 476 7.34
SS42SAF | 112 3 55
SD32S 85 318 54
SD42S 115 318 6.4
ST317 935 27 5
SD32V | 912 318 34 ST317B | 935 27 5
SD43V 126 476 45 ST317N | 85 27 4.88
SD44V 126 635 45 ST42 125 3.18 69
ST42N 116 318 65
ST53 157 476 7.9




KomnnekTytowue K

(>) OnopHble NNacTuHbI (») Kaccertbl
Pasmepbl, Mm Pasmepbl, Mm
FeomeTpua 06o3HaueHue : FeomeTpua b
p! a b c d _yron p! 0603HaueHue a b c d_yron
ST32CC | 935 318 35 LAPDR-AJ|M4x07 30 15 10
a
=
\Lg,
b [
ST32C1 | 913 3.18 495
ST42C1 | 123 318 495
(») HaknagHble CTPYXXKONIOMbI
Pasmepbl, MM
[eomeTpua !
p! 0603HaveHue a b c T
ST32D | 935 3.18 577 - 2. [CB20 85 34 20
ST43D | 1252 476 7.34 =
ST53D 157 476 9.65 g7
ST63D 18.87 4.76 11.25 a4 °
60° b ST32M 87 318 47
e ST43M 125 476 6.3
M (> NpoTekToOpbI
+4t4d
j T'eomeTpuna 0603Haventte FEETTELCT
J a b c d yron
- CFMP3R14R1-A | 105 20 1 (243)
60 b ST328 85 3.18 5.4 J CFMP3R-A 8 8 T @49)
M b CFMP4R-A | 8 22 1 (943
711& c e
ST32V 9.12  6.18 3.4
ST44V 126 635 45 @ KpOHLUTeﬁH
Pa3smepbl, Mm
FeomeTpua !
p 06o3Hauerve a b c d yron
a ) CAO5R 89 55 176 33
SV32D 92 318 58 -~ CAOGR 5 72 08 53
SV43D | 1229 476 7.34 - CHSR3 | 78 72 148 3
¢ F CH6R4 |1202 9 2397 375
a T
SV32D2 | 92 318 5.8
Sv32s | 84 318 54 ] ) CBH45R1| 8 574 177 4
- == CBH45R2| 95 64 18 4
N CBH5R1 | 10 78 213 5
>/ © CBH6R1 1293 26 6
SW317 | 935 27 5
SW317N | 85 27 488 q & o
SW42 125 3.18 6.9
SWa2N | 116 318 65 R . CDH6N | 95 10 186 6.1
phal N CDH7N 79 114 147 47
N CDH8N 109 169 224 6.1
SW32D | 925 318 58 o = CDH8N1 | 109 169 191 61
SwasD | 1245 476 734 \g CDH8N2 | 109 169 254 61
SWS3D | 1562 476 9.65 d CDH8N3 | 125 198 254 9.2
SW63D | 188 476 11.25
SW84D | 2489 6.35 14.43 CDS8N | 108 17 22 5
a b
SW43M | 125 476 6.2 T b ,%
SW32M | 852 3.18 52 c g
d T
5 CGH5R1 | 195 95 288 25
Sw32v_ | 912 3718 34 T /7 CGH5R2 | 205 95 288 35
Swa4v | 126 635 45 = CGH5R3 | 225 95 288 55
SW54V | 1575 476 55 @ o ﬁ
U B H
a b,




K KomnnekTytowue

(*) KpoHuwTeiiHbl

(>) BuHTbI oXnaXKaeHus

Pa3mepbl, MM Pa3amepbl, MM
Feometpun 0603HaueHue A b G d angle F'eomeTpuA 0603Hauerue 5 o P d BN 4
d CGH6R1 | 223 119 232 25 CBAT00INMM | M16 @54 @43 47 14 (32)
| |' CGH6R2 | 232 119 232 34 CBA100-IN-25.4 | M12 @44 @36 415 10 (25)
- . q CGH6R3 | 240 119 232 42 CBA125-IN M20 @65 @54 56 17 (38)
*@’ = CBA125-IN-25.4 | M12 @44 @36 435 10 (25)
a ‘ ,ﬁ.l CBA125-MM M20 @65 @54 57 17 (35)
B @ _ | CBA160-IN M24 @83 @73 56 19 (38)
a b CHH35R1| 75 67 13 245 1% CBA160-MM | M20 @83 @73 53 17 (34)
\ I — |CHH45R1| 79 785 141 254 b o FIe CBPIOOIN | M16 ©50 @43 486 14 (32)
. CHH5.5R1| 98 10 164 4 0 CBP100N-254 | M12 @44 @36 465 10 (25)
d CBP100-MM-1 | M16 @50 @43 486 14 (36)
; I CBP125-IN M20 065 @54 56 17 (38)
- CBP125N-254 | M12 @44 @36 55 10 (25)
a b |CH4RT 74 5 141 31 CBP125-MM | M20 @65 @54 57 17 (35)
I CH5R1 100 66 202 45 CBP125-MM-1 | M20 @61 @54 656 14 (33)
. CBP160-IN M24 @83 @73 56 19 (38)
CBP160-MM | M20 @83 @73 53 17 (34)
J\ S
CH5R2 685 7 138 2 @ BuHTI
CH6R2 885 87 165 2 Pa3mepbl, MM
CH6R3 | 118 10 23 42 I °6°3"a“e“"J A C Kp L M
SB0825 | 13 6 8 25 MO8x1.25
SB1025 | 16 8 10 25 M10x150
" [sB1035 | 16 8 10 35 MI0x1.50
CMH5R1 | 185 79 16 626 A[j‘, F——J [sB1230 | 18 10 12 30 Mi2x175
CMH6R2 | 200 11 175 138 1 . | |sB1630 | 24 14 16 30 Mi6x20
CMH6R6 | 185 79 16 626 ¢ SB1645 | 24 14 16 45 MBx20
CMH6R1 | 24 85 165 828 SB2040 | 30 17 20 40 M20x25
CB1025 | 13 6 8 25 MO08x1.25
CMH6R3 | 200 11 1751 CB1025 | 16 8 10 25 M10x1.50
CMH6L3 | 200 11 1751 CB1035 | 16 8 10 35 M10x1.50
CB1230 | 18 10 12 30 Mi2x175
Al ) CB1245 | 18 10 12 45 Mi2x175
- CB1630 | 24 14 16 30 Mi6x20
c CB1645 | 24 14 16 45  M16x20
CS5R1 68 7 145 2 CB2040 | 30 17 20 40  M20x25
CS6R1 88 85 181 27
CS8R1 118 10 23 42
() Pblyaru
CTH6L1 235 12 254 1435 Pasmepbl, MM
r_ﬂ’ (7 |CTHBR1 | 285 12 254 1435 IO Oboskedemte | 2 b ¢ d angle
. — |CTH6R2 | 2178 129 3122 17.33 a LR10 34 108 17 3
@ Ew = LR12 37 135 134 35
a b LR16 475 187 183 43
- - “_’J o dzt LR20 59 205 187 555
b o4, |CVH3 21 11 58 77 g ‘ . LR25 735 2425 237 6.2
| ‘ - ?)_; CVH3V 29 14 7 8 =~ 7 |LR32 845 297 2695 7.9
@ £ CVH4 255 145 6 7 a3 Lv2 26 775 6 2.1
a i CVH5 0 17 75 95 ~ Lv3B 31 10 95 a7
i CVHé 3’5 185 8 10 . Lv4B 47 1455 156 47
q t LV4BN 47 16 149 468
_a . b CXHS8N 101 100 175 -
e
E,q LV3 37 10 12 36
© = LV3N 375 10 12 355
w LV3AN 375 121 114 464
Lv3C 31 10 78 36
V?ﬁ LV3CN 32 10 78 36
@ BuHTbI oxnaxaeHuna LV3D 31 117 95 36
b LV3DN 32 1165 95 355
TeomeTpus OboaHaverme | ——— Paa:epb"dMMB M & ab Lv4 47 1455 14 47
c | |LVaN 47 1345 132 468
B a(a') CBAOG3-3INMM| M10 @25 @6 37 8 (27) LV5 6 171 17 6
Bl (e o4t 2 ot o i 5
b Ci e : LV5AN 6 1882 173 595
i CBPOG3-INMM | M10 @22 @16 386 8 (27) LVGN 75 205 o1 76
d CBPOSOINMM | M12 @25 @18 486 10 (32) LV8N 56 %55 254 86




KomnnekTytowue K

(® Poruaru (>) BuHTbI
FeomeTtpua 06o3HaueHue G bPaamezbl, MMd Feometpua 0603HaueHve 5 Fl;aamipbl, ::M BN 4
a LV4A 46 1324 995 47 CHX0625 | 420UNC 248 11 10 4
ol LV4AN 47 133 10 468 CTX03510 | 35X06 10 47 53 15
] ‘f@\’ dfj 2t [CTX0ss13 lwesxors 131 69 68 20
oT E 3 CTX04513H |M45X075 131 7.2 68 20
. b CTX0515 M5X08 15 8 7 20
CTX0517 M5X08 175 10 7 20
CTX0621 MBX10 212 124 9 25
@ Kaccertbl DHA0514 | M6X08 140 50 70 25
re—— DHAO0617 M6x10 170 7.0 7.5 30
F'eometpun Obostaetme = ¢ 2 d DHA0620 Mx10 200 80 80 3.0
DHA0624 M6x10 240 120 85 30
LFMP3R-A | M35 187 10.1 46 D) aI ai DHA0B15 | MBX1% 155 625 625 40
LFMP4R1-A| M45 243 138 62 \‘EV DHAGB1BF | M6X10 18 85 55 40
LFMP4R-A | M45 263 138 62 == ,="= | DHA0B20 | X125 200 80 90 40
DHAO0821F | MBX10 21.0 85 85 40
DHA0825 | M8X1J5 250 10.0 9.0 40
DHA0830 | M8X125 30.0 115 115 40
LFMA3R-A | M3 185 95 48 ETGAO520CBM | M5X08 20 65 20 43
LFMA4R-A | M35 26 131 73 ETGD0825 | M8X125 252 1.1 40 40°
ETKA0523 | M5X08 23 76 20 43°
ETKA0625 | M6X10 255 88 20 43
ETKDO516 | M5X08 16.4 68 20 40°
ETKD0620 | M6X10 20 83 30 40°
ETNA02506 |M25X045 5.7 34 7 43
ETNA0408 | MX07 8.0 51 15 43°
Pa3me bl, MM ETNA0412 M4X0.7 12 5.1 15 43°
TG Oboawadere cp d BN 4 ETNAO511 | M5X08 110 64 20 43°
NO407  Maxo7 75 & 7 3 ETNDO2506F |M25%035 6.25 317 40°
GE | r [Nosos wsxos 63 66 7 ETNDO307F | M3X035 7.8 37 8 40
. H | l ETND03509 | M35X06 9.6 47 10 40°
- FTGA03507 | M35X06 7.0 53 15 60°
B <b° - FTGA03508 | M35X06 8.0 53 15 60°
FTGA03510 | M35X06 10.0 53 15 60°
FTGA03512 | M35X06 12.0 50 15 60°
@ |_|_|1-y|q)1-|,| FTGAO411F | M4X05 110 70 15 60°
FTGAO417CBM | M4X07 170 55 15 62°
FeomeTpus O6oaHasesie Pasmepu, mw FTGAO510-P | 5X08 100 70 20 63°
a b ¢ FTGA0512-P | 15X08 12.0 70 20 6%
PN0308 3.0 8 FTGA0513 | M5X08 132 70 20 61°
aI PNO310 | 30 10 FTGAO0513-P | I5X08 13.0 70 20 6%
b PNO0312 3.0 12 FTGA0517 M5X08 17.0 75 20 61°
PNO314 | 30 14 FTGA0621 | MGX10 215 90 20 61°
PNO515 | 48 33 145 e FTGA0826 | M8X1%5 26.0 16 25 61°
a b a dl ST o) | FTKA02206 | 122x08 55 30 6 60°
. h - FTKA02206S |M22X045 5.6 305 7 60°
FTKA02555 |M25X045 5.5 35 7 60°
FTKA02565 |M25X045 65 35 7 60°
@ BuHTBI FTKA02565S | 125X045 6.5 38 8 60°
FTKA0307 | M3X05 7.2 42 9 60°
FeomeTpua 060o3HaueHue a Pbaamip"" ::M BN 4 FTKA03508 | M35X06 8.4 55 15 60°
FTKA03510 | M35X06 10.4 55 15 60°
- % |AZOS0BF | MSX0S 13 8 9 @2 FTKA03511A | M35X06 11.0 52 15 60°
% dL : ] [AZ0514  NEXDE 14 7 9 P05 FTKAO408 | W4X07 84 55 15 60°
S FTKA0410 | M4X07 10.0 55 15 60°
B b FTKAO411K | M4X07 11.0 68 15 60°
FTKA0412B | MX07 125 55 15 60°
BHA0510 | M5X08 15 10 85 40 FTKAOM3 | M4X0T 130 55 15 60°
@ JE——y ¢ (BHASTZ | WGX0S 1712 85 40 FTNAO1633 M16X0% 33 26 6 60°
I-vu \ai BHAO612 | V6X10 18 12 10 50 FINA0203 | 12X0¢ 30 27 6 60
6] | BHAO614 | V6X10 20 14 10 50 FTNA02033 | 12604 33 27 6 60
b BHAO616 | MGX10 22 16 10 5 FINAO204 | W2X04 43 27 6 60°
BHAOGIO-NYLOK| M6X10 25 19 10 5 FTNA02205 | 102X045 45 30 6 60°
- CHX0407 | M4X07 95 736 57 25 FINAG238 | 12X0¢ 38 30 6 60
dI I=—aT [CHX0415 | WX07 175 15 54 25 FTNA05 | Wox0s 52 o o 6
5 R I |CHX0510 M5X08 131 101 7.7 3 FTNA0306 W3X05 6.2 42 9 60°
o b CHX0518 | M5X08 215 18 8 3 FTNA0307 | M3X05 7.2 42 9 60°
CHX0622 | M6X10 265 22 10 4 FTNA0408 | l4X07 85 55 15 60°
AR - = CHX0513 M5X08 13 8 64 25 FTNA0411 WX07 11.0 55 15 60°
\'}‘2” dl ¢ a CHX0616 M6x10 162 10.1 85 3 FTNAO0511 M5X08 11 70 20 63°
E c ‘ CHX0617L Mex10 172 101 85 3 FTNA0513 M5X08 13.0 70 20 60°
b CHX0621 | M6x10 21 104 85 3 FTNA0516 | M5X08 16.0 70 20 60°




K KomnnekTytowue

(>) BuHTbI
TeomeTpua Oosvasesie — :amzpbl' ::M BN & FeomeTpuA Obostaderne — P:smel;bl, M(;“ BM d
FTNBO411| W4X07 10.8 57 15 60° PXMA0306 | 113X05 59 57 2 90
FTNC04509 |V45X075 95 68 20 55° D SHX0310 | M3X05 10 59 2 9°
FTNCO4511 [M45X075 11.5 68 20 55° @ @ dL B Ja
T B b
KHA0508 | N5X08 8 25 RHA0510 | W5X08 10 40
KHA0510 | 15X08 10 25 o @ o |[RHAOGT3 | 1610 163 13 105 40
KHAQ610 | M6X10 10 3 ' RHA0B20 | M6X10 24 20 105 40
@}, a F*j[ KHA0612 | M6X10 12 30 Bl s
A \ KHA0812 | M8X125 12 40
KHA0815 | 8X125 15 40 FHGAO618 | l6X10 18 85 40 61°
KHA1015 | M10X15 15 50
KHA1020 | M10X15 20 50 a
g KHBO417 | WX07 172 45 25 2
_ KHB0406 | WiX07 6 42 3 2
=1 VHX0509B | 15X08 9 415 5 2
~c.] VHX0512B | W5X08 12 65 5 2
b VHXO0512BN | 15X08 12 656 5 2
KHC0510 | M5X08 10 8.1 25 90° VHX0514 | M5X08 145 825 5 2
KHCO610 | M6X10 10 78 30 90° VHX0613N | V6X10 134 75 593 25
KHC0812 | 18125 12 9 40 90° VHX0617 | M6X10 17 10 6 25
KHC1016 | M10X15 16 123 50 90° VHX0617N | N6X10 16.75 834 59 25
KHC1020 | Mi0X15 20 16.3 50 90° @\,\/ {;; VHX0817N | M8X10 17.05 7.98 79 3
a : | VHX0820N | M8X10 207 798 79 3
KHDO510 | M5X08 10 9 3 25 - VHX0820AN | N8X10 205 103 7.9 3
KHD0610 | M6X10 10 10 4 3 VHX0821 | MeX10 21 10 8 3
KHDO810 | M8X125 10 10 75 4 VHX082IN | M8X10 212 968 79 3
VHX0823N | M8X10 235 103 7.9 3
VHX0825 | MeX10 25 12 8 3
LTX0512 | M5X08 151 12 7.3 20 VHX1027N | Mi0X10 272 144 98 5
LTX0514 M5X08 171 14 73 20 VHX1236N | M12X10 36 18.3 11.8 5
VHX0613A | M6X10 134 91 60 25
MHA0512 | M5X08 17.0 10.8 80 40 @\’\/ afr;;j ﬂ
- MHBO0310 | N3X05 134 80 55 25 . -
@!\,\/ dL 4 Jai |MHBO410 | Mex07 140 80 70 30 .
e - MHB1055 | 110X15 65 50 16 8
- MHB1260 |Mi2X1755 72 55 18 10 _ SHXNOSO9F | M5X05 1135X06 8.65 63 3.5
MHB1680 | M6X20 96 75 24 14 d? Eal SHXNOBTOF | MGX0T5 WeX05 10 7.8 4
MHX0523 | M5X08 235 9.7 10 25 v [ SHXNO712F | M7X075 15X06 12 85 5
\(@\, of fE 0= 2} [MHX0626 | 6X10 258 10 11 3 £ o
E - MHX0630 | M6X10 30 125 105 4
y = _ WTX0813 | WBX125 172 49 85 25
—— @{ ?I WTX0817 | MBX125 22 49 85 25
PTKA02508 125K0&5 8 5 38 8 92° T <
PTKA03510| M35X06 10 5 5 15 92° b
PTKAQ407 | W4X07 7 46 55 15 86°
PTKAO4OTF| W4X05 73 38 65 15 91°
PTkacos | 107 8 56 55 15 s (») BTYnKm
PTKAO408F| W4X05 83 57 65 15 91°
PTKAO409F| W4X05 93 67 65 15 91° leomeTpua Oo3HaseHye SEEERE, O
PTKAOHOF| W4X05 103 7.7 65 15 91° 4 b & d
T +  |PTKAO411F| W4X05 113 87 65 15 of° SP3 55 85 59
£/ |PTKAO#12 | Mex07 12 75 59 15 92° SP3N 685 33 5.5
- [PTKA0412F| W4X05 123 97 65 15 of° SP3N-1 53 33 5.55
c PTKAO413F| I4X05 133 107 65 15 9f° SP4 70 40 76
b PTKAO512 | M5X08 12 7 69 20 92° CT\ I o @+¥ SPAN 58 48 14
PTMA03508 M35X06 8 53 6 9 90° ‘ : w SP5 85 45 88
PTMAO403F| 114X05 33 17 65 15 Of° 2 SPSN 85 568 9
PTMAO404F, MAX05 43 27 65 15 91° SP6N 11 60 110
PTMAQ405F M4X05 53 37 65 15 91° SP8N 120 100 1535
PTMAO40GF M4 X05 63 47 65 15 91°
PTMAO41T |M4X07 11 85 66 15 90°
PTKAOAI1-R3 M4X07 11 69 6 15
Ry } SP2m 5 14 M5X08 6
= @a ol SP3M 35 195 M4X07 4
i — SP3M-1 | 35 165 M4X07 4
o b SP4M 5 19 M5X08 6
b




KomnnekTytowue K
() Wrndbl (> Knioum

Pa3mepbl, MM Pa3smepbi
Feometpua ) Pbl, MM
p 0603HaueHme a b c d FeomeTtpua O6o3Hauetme a b B
SP3D 37 131  UNF10-32 56 TW07S 140 60 7
SP3D2 36 12 UNF10-32 55 TW08S 150 76 8
SP3DS 37 1154 UNF10-32 56 TW09S 65 70 9
aI d _H SP4D 497 1719 UNF1/428 7.2 TW15S 190 90 15
SP4DL 5 171 UNF1/428 7 TW20S 195 91 20
b SPADS | 497 1326 UNF1/428
SP5D 621 219 UNF5/16-24 9.44
SP6D 775 219 UNF38-24 1102 b TW20 75 80 20
SP8D 902 2963 UNF7/16-20 14.21 TW25 74 80 25
LSPS3 60 82 555
LSPS4 65 10 7
LSPS5 69 114 8.85
LSPS6 69 13 11
LSPS8 73 165 15.2 SW15S 150 13
(> MpyXuHbl &l
a
leometpua 0603HaeHHe Paguepb, mw
a b c d
SR2 40 28 126 04
[ i (>) CTonopHbie Wwaii6bl
Pasmepbl, MM
FeomeTpua 2
b p! 06o3HaueHe A b c d
n CR03 48 26 04 30
SPRO315 | 30 15 CRO4 66 36 04 40
SPRO415 | 40 15 : CRO05 76 46 04 50
SR3 92 125 U : : : :
SR4 40 110
1 b SPRO714 | 7 14
ER03 70 26 06 30
ﬁﬁ mﬁ ziggglg ? 12 ER04 90 35 06 40
ER05 11 43 06 50
AARIRN “U SPRO811 | &8 11
voBo 1
(> Knioun y
(») Wan6bi-rpoBep
Pa3mepbl, MM
leomeTpuA 0603Ha4eHve ’
a_ b BM Feomerpun O6camasenre Pasmeps, um
HW20L 52 18 2 a b @
<—>‘ B HW25L 585 205 25 - WA3 110 6.8 05~10
Q%L HW30L 66 23 3 WA4 10.0 53 05~10
b' HW35L | 72 25 35 é
T HW40L 74 29 4
HW50L | 85 33 5 .o e
b HW40 82 80 4
HW50 96 90 5
a (>) dukcaropbi
6.8 Teometpua Oboataserie | bPaamegu, M"AO
<—3.| SW50L 70 275 STP5 1 10.2 1 30°
DLF='= O\« o=
1
© \,}« 80° c
TWO06P 63 6
T TWO7P 63 7
—_——— QI TW08P 71 8 @H
l i TWO09P 75 9 acap‘KM
- a - TW10P 78 10 Pasmepbl, MM
FeomeTpua !
TW15P & 5 p! 0603HaueHue a b
TW20P 86 20 CN0605 6 4.6
a TW15L 60 21 15
TW20L | 60 21 20 o -
b
x|l
) D
9:¥T ,




